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| can identify when a function is increasing and when it is
decreasing and | understanding the relationship between this and
the derivative of the function.

| can find the antiderivative of a function.
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Mean Value Theorem (Part 1)

If y = f(x) is continuous at
every point in the closed
interval [a,b] and
differentiable at every point

in the open interval (a,b),

then there is at least one
int cin (a,b) such that
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Ex1. Show that each function satisfies the hypotheses

of the Mean Value Theorem on the given interval=~Then
find a solution “c” to the equaﬁon
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Increasing & Decreasing Functions

Increasing Decreasing
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fis increasing if x,<x, and f(x,)<f(x,) f is decreasing if x,<x, and f(x,)>f(x,)

If /(x)>0 at each point in (a,b), then If f'(x)<0 at each point in (a,b), then

fincreases on (a,b) f decreases on (a,b)
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Ex3. Find all possible functions W|th the

given derivative %‘”\"’ CLQ g
1.) f'(x)=6x2+2x+3 — Covatve

@‘ 7\><3+ s(q—»- Bxﬁé

2.) g’(x) = secx
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Ex4. Find the function with the given
derivative that passes through the EIYR(-:H
point , ek deridiol
1) y'=3e>  (0,4)

kﬁ: e;}X-F C

)
L\ - .e:uo‘\" C
L\ = (Jt C CZB

2.) h'(x) = 2x+5 (2,7)
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Homework
pg 202 # 1-4, 7, 9-14, 29-38,
43-45,51-56
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